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 LSE-02  

BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

February,  2021 

LIFE SCIENCE 

LSE-02 : ECOLOGY 

Time : 2 hours Maximum Marks : 50 

Note :  All parts of question no. 1 are compulsory. 

Attempt all questions.   

  

1. (a) Define the following terms : 5 

(i) Sublimation   

(ii) Mesophytes  

(iii) Herbivory  

(iv) Nudation  

(v) Density  
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(b) Match Column A with Column B : 5 

 Column A   Column B  

(i) Euryhaline   I. Obtain energy by  

    degrading dead  

   organic matter  

(ii) Carrion feeders  II. Thrive on living  

   host    

(iii) Saprotrophs  III. Eat plants and  

   animals    

(iv) Parasite    IV. Feed on corpses   son   

(v) Omnivore V. Survive under a  

   wide range of  

   salinity    

2. Answer any four questions of the following :   45=20 

(a) Differentiate between the following : 

(i) Cryptophytes and Therophytes 

(ii) Hydrarch and Xerarch   

(b) Explain the importance of adaptations in 

plants and animals to different light 

conditions and extremes of temperature. 
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(c) Distinguish between colluvial and alluvial 

soils.  

(d) Discuss the economic importance of 

grasslands.  

(e) Define predation and explain the  

predator-prey system.  

3. Answer any two of the following questions :   210=20 

(a) Describe the characteristics of lake 

ecosystem.   

(b) Explain the growth of population which is 

limited by the carrying capacity of our 

environment.  

(c) Discuss as to why we should conserve 

wildlife. 
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 Eb.Eg.B©.-02  

{dkmZ ñZmVH$ (~r.Eg gr.) 

gÌm§V narjm 

\$adar,  2021 

Ord {dkmZ 

Eb.Eg.B©.-02 : nm[apñW{VH$s 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> : àíZ g§. 1 Ho$ g^r ^mJ A{Zdm`© h¢ & g^r àíZm| Ho$ CÎma 

{b{IE &  

1. (H$) {ZåZ{b{IV eãXm| H$mo n[a^m{fV H$s{OE : 5 

(i) CXmÎmrH$aU 

(ii) g_moX²{^X² 

(iii) emH$mhm[aVm 

(iv) Ý`yS>oeZ 

(v) KZËd 
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(I) H$m°b_ H$ VWm H$m°b_ I H$m {_bmZ H$s{OE :  5 

 H$m°b_ H$  H$m°b_ I   

(i) `yarh¡bmBZ I. _¥V H$m~©{ZH$ nXmWm]   
  Ho$ AdH«$_U go D$Om©  
  àmßV H$aVo h¢ 

(ii) _m§g ImZo dmbo II. Or{dV nanmofr na  
  ahVo h¢ 

(iii) _¥Vnmofr III. nm¡Ym| Am¡a newAm|  
  XmoZm| H$mo ImVo h¢ 

(iv) naOrdr$  IV.  _¥V Ordm| H$mo ImZo dmbo 

(v) gdm©hmar V. bdUVm H$s EH$ ì`mnH$  
  a|O _| Or{dV ahVo h¢   

2. {ZåZ{b{IV _| go {H$Ýht Mma  àíZm| Ho$ CÎma Xr{OE :  45=20 

(H$) {ZåZ{b{IV _| AÝVa ~VmBE : 

(i) Jy‹T>moX²{^X VWm G$VyX²{^X 

(ii) Obma§^r VWm ewîH$Vma§^r  

(I) nm¡Ym| Am¡a newAm| _| {d{^Þ àH$me H$s n[apñW{V`m| 

VWm Ma_ Vmn_mZm| Ho$ à{V AZwHy$bZm| Ho$ _hÎd H$s 

ì`m»`m H$s{OE &  
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(J) {_lmo‹T> VWm Obmo‹T> _¥XmAm| _| Š`m AÝVa h¡ ? 

(K) KmgñWbm| Ho$ Am{W©H$ _hÎd H$s {ddoMZm H$s{OE &  

(L>) na^jU H$s n[a^mfm {b{IE VWm ^ú`-^jH$ V§Ì 

H$s ì`m»`m H$s{OE & 

3. {ZåZ{b{IV _| go {H$Ýht Xmo  àíZm| Ho$ CÎma Xr{OE :  210=20 

(H$) Prb nm[aV§Ì Ho$ A{^bjUm| H$m dU©Z H$s{OE &  

(I) g_{ï> H$s d¥{Õ n`m©daU H$s dhZ j_Vm go {H$g 

àH$ma gr{_V hmoVr h¡, g_PmBE &  

(J) h_| dÝ`OrdZ H$m g§ajU Š`m| H$aZm Mm{hE, 

{ddoMZm H$s{OE &     

   


